AR 17"7 '0In R,7% M2 .7"02

- 9912 12 PY9IN KD 27N 7o NN
By smiting a person, you should also not differentiate by him, etc.

Overview

The 7°p11 °27 RN derives from the 109 of N QTR oMY 7AW AR02 7om,' that since
the 105 placed them next to each other (a wp*17), we derive X 791 from 71M72 727;
just as by 7172 7101 one is always liable regardless whether the damage was done
MW or 73, etc. so too by 07X 727 that in all cases whether he killed a2 or
7113, etc. the killer is not liable to pay any money; rather he is exempt from
paying. mooin discusses the need for other 0’109 to teach us the rule of % o°p
77 172772, when seemingly one can derive it from this wp* of the n"In.
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And regarding the ?1w5 of 1K 7970 X%, which informs us that the perpetrator

does not pay the value of the fetus together with a death sentence -
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And also, regarding this which was expounded in the end of %3777 7252 p95; ‘on

him, but not on the person’ -
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That you should not take money from him and execute him, for murder alone -
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And regarding the verse of 121 1mpn X%, from which we expound it to mean; that
you should not take money from the murderer and exempt him from execution;

all these verses are necessary -
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X9,73 (M) X7

299,83 (ouown) MY reads wIv> Wy NOX 77 821 (if there will not be a mishap [the pregnant woman was not killed], the
perpetrator should be punished [and pay the value of the (aborted) fetus]). We can infer from this 2109 that if there was
an MoK (the pregnant woman was killed), the perpetrator will not pay the n7om "7; this is the rule of n"2%p.

? moon is (seemingly) assuming (now) that we can derive the rule of »2"2%p from n"7n, so why is the 105 of 777> X9
1o (and the other two 0’2105 mentioned shortly by N1901n) necessary?!

*.%0 (2"uown) NMmw states regarding a 7AW who killed a person, 199 N 1915 OX; we expound the word 15¥, to
mean that only if one’s ox kills a person is there an obligation for a monetary payment of 1913 (besides killing the
ox), however if a person kills someone, there is no obligation of 71913 (or any monetary payment), since it is a capital
crime; the rule of n"2%p.

5 This case is different from the previous case of 7oK 777° X9, for in that case besides the killing of the woman, there
is the loss of the fetus (1R 17M1); however here there is only the loss of life, and no other loss — 71177 7%° 177 9.

6 X9,79 (°von) 12713 states regarding a murderer, N N %3 31 XN WHIS 1913 PN K.
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For we cannot derive those rulings from the wpsn of n''tn, as >''w9 explained

later on -
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That from the w77 of 27X 707 to 772 712%, we could not derive an exemption of
paying money, for on the contrary we should derive an obligation to pay by 7727

DR, since 72 9%, from which we want to derive from, is liable to pay money!
- 91519 anany 790N 590y

Therefore, it is necessary to write all these three o105 -
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And this is how we derive the rules of »"2%p from the wp>1 of 11"7n; just as by mo%
mnn2 you did not distinguish regarding this which is written by it, meaning

that one is liable for 772 707, in any instance -
=12 2INOY PN NV 232y Y DTN NN 9N

Similarly, by a7y 7on all types of exemptions which are written by one who
smites a man, namely that they do not pay money; regarding these rules -
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You should also not distinguish between 332 and 7°1», or whether he was killed

in an upwards direction or in a downwards direction; in all cases he is exempt from
payment —

Moo now explains the meaning and the need of the three expression in 1"n:'!
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Not differentiating between 75121 a2 is referring to other payments together

with death; that he does not pay them even if he was a 331w and will not be executed -
- Pianh 13595K1 15910931 1539 NN NPYN KY PIY 993 11999 79y 791

And not differentiating between 577999 ;79°9® 997 teaches us that in any case (even

¥ The wp i of n"n (merely) compares DTX 7% to 7»72 79, meaning just as by 72 791 there is no difference
between 121 711 AW, the same should be by o7& 7701, that there is no difference between 2w and 711, The simple
understanding is that just as one is liable to pay for 7;12 7192 in all cases, the same should apply to 27X 121. The 11"7n
does not present any proof at all that there is a concept of n"2%p. It only teaches us not differentiate between W
711 by 07X 7197,

? The fact that 772 797 is always 27 to pay 7512 12 3332 132, should lead us to understand that by a7x 79%, which is
derived from ;12712 1197, he should also always be 271 to pay (both by 7t and a1 w)! See ‘“Thinking it over’.

' From these three o100 we derive that (in a general sense) there are no monetary payments when a capital crime
was committed; the rule of n"2%p. However, from those 2°?105 we may have assumed that there are no payments,
only when the offender is executed, which is the simple understanding of »"2%p, therefore the n"7n extends this
exemption even to cases where there is no actual death penalty.

"' These are, 1) 75 20w 1°3; 2) 11507 WRY 1190 12; and 3) 777 772 7799 717 P2

"2 This may be referring to the N1791 *»7 (in the P05 of TOX 777> 891); see footnote # 2.

" x,m. This may be referring to the p105 of 7913 11PN 891, See footnote # 6.
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if he killed 7%y 7177) do not take payment from the Killer and exempt him, as
the X713 states later -

:AUNRA 31 Py 11901 PRYY 19195109
And not distinguishing between 31502 PR 1on» is regarding payment for the
murdered woman that he does not pay her value to her heirs, even if he killed her w2,

Summary
The 10 does not teach the rule of »"2%p. It is only after we know the rule (from

the three 2°p109) that 11"7n extends this rule to 119072 11X 30w, and 7°°%Y T17.

Thinking it over

nwown writes that if not for the three 2’105 (which teach us 7"2%?) we would
utilize the wp°n of 17N that one is 21 to pay, even a2 (Just like 7n72 7971 is
always liable to pay).”> Seemingly, at this point where we do not know the rule of
n"2%p, why is a WP necessary to teach us that 2w is 2°11 to pay; why should we
assume otherwise?!'®

' According to "0 even if the woman was killed accidentally no payment is made to her heirs for the value of the
woman. This may refer to the T2°% of 27X %y X7 19y, See footnote # 4.

1% See footnote # 9.

16 See Mz .
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